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¢ #include <string.h>
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e void *memchr( const void *str, int ¢, size_t n);
® int memcmp( const void *str1, const void *str2, size_t n);
® void *memcpy( void *dest, const void *src, size_t n );
® void *memset( void *str, int ¢, size_t n);
® size_t strlen( const char *str);
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(memfun.c)

#include <stdio.h>
#include <string.h>
int main(void) {

char src[50] = "

char dst[50];
FHE src = %sWn", sro);
S| strlen(src) = %d¥#n", strlen(src));
memcpy(dst, src, strlen(src) + 1);

(II =

printf
printf("= X}

printf("= X

char ch ="
char *ret = memchr(dst ch, strlen(dst))
printf("2 XAt %c Fl0l= A8 %s O] ACLWN", ch, ret);

return O;

https://www.visualstudio.com";

HI D dst = %s¥#n", dst);
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[Z 1]
FHH 2 src = https://www.visualstudio.com
FE 37| strlen(src) = 28

Hi & dst = https .//www.visualstudio.com
: Fole 242 i//www.visualstudio.com O]
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int stremp( const char *s1, const char *s2);
int strncmp( const char *s1, const char *s2, size_t maxn );

..'..ﬂ‘,’k

char *strcpy( char *dest, const char *source );
char *strncpy( char *dest, const char *source, size_t maxn );

char *strcpy_s( char *dest, size_t sizedest, const char
*source );

® char *strncpy_s( char *dest, size_t sizedest, const char
*source, size_t maxn );

® char *strcat( char *dest, const char *source );

® char *strncat( char *dest, const char *source, size_t maxn );

® char *strcat_s( char *dest, size_t sizedest, const char
xsource );

o

char *strncat_s( char *dest, size_t sizedest, const char
*source, size_t maxn );
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(strcmp.c)
#include <stdio.h> [Z4}] -
#include <string.h> strcmp(Java, java) = 0
strcmp(java, jav) = 1
int main(void) { strcmp(jav, java) = -1
char *s1 = "java"; strncmp(jav, java, 3) = 0

char *s2 = "java";
printf("strcmp(%s, %s) = %d¥n", s1, s2, stremp(s1, s2));

s1 = "java"

s2 = "jav";

printf("strcmp(%s, %s) = %dW#n", s1, s2, stremp(s1, s2));

s1 = "jav";

s2 = "java",

printf("strcmp(%s, %s) = %dWn", s1, s2, stremp(s1, s2));
printf("strncmp(%s, %s, %d) = %dWn", s1, s2, 3, strncmp(s1, s2, 3));

return O;
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#define CRT SECURE_NO WARNINGS [EEH
#include <stdio.h> C is a language.

#include <string.h> C#is a language.
C#

int main(void) {
char dest[80] = "Java";
char source[80] = "C is a language.";

printf("%sWn", strcpy(dest, source));
//printf("%d¥Wn", strcpy_s(dest, 80, source));
//printf("%s#n", dest);

printf("%sWn", strncpy(dest, "C#", 2));

printf("%sWn", strncpy(dest, "C#", 3));
//printf("%dWn", strncpy_s(dest, 80, "C#", 3));
//printf("%s#n", dest);

return O;




+2

=Xt Hluw

(strcat.c)
#define CRT_SECURE_NO WARNINGS [£31]
#include <stdio.h> C IS
#include <string.h> Cis a
C is a procedural
int main(void) { C is a procedural language.

char dest[80] = "C";

printf("%s¥n", strcat(dest, " is "));
//printf("%dWn", strcat_s(dest, 80, " is "));
//printf("%s#n", dest);

printf("%sWn", strncat(dest, "a java", 2));
//printf("%d¥Wn", strncat_s(dest, 80, "a proce", 2));
//printf("%sWn", dest);

printf("%sWn", strcat(dest, "procedural ));
printf("%sWn", strcat(dest, "language."));

return O;
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o ExgolM FEXHdelimeters)?l 2XHE)S XIFsl0 E2S
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® char *strtok( char *str, const char *delim );
® char *strtok_s( char *str, const char *delim, char

*xcontext );
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(strtok.c) C
#define CRT _SECURE_NO_WARNINGS and
#include <stdio.h> C++
#include <string.h> language
are
int main(void) { best

char str1[] = "C and C++Wt language are best!";

char *delimiter = " MWHt!":

printf("EALE W'%sW"'S >>Wn", str1);

orintf(" -2 XH[%s] 2 0| 23}0 5@2 FZ= >>¥n", delimiter);

char *ptoken = strtok(str1, delimiter);
while (ptoken) //(ptoken = NULL) {
printf("%s¥Wn", ptoken);
token = strtok(NULL delimiter); //Ct& EZ
}

return O;
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(strfun.c)
#define CRT_SECURE_NO_WARNINGS [£1H]
#include <stdio.h> 4
#include <string.h> Java 2017 go c#, JAVA
2017 GO C#
int main(void) { VA 2017 GO C#, AVA 2017
char str[] = "JAVA 2017 go c#"; GO C#

printf("%d¥n", strlen("java")); — —
orintf("%s, ", _strlwr(str)); <« =T S A= Het

printf("%st#n”, _strupr(str));<— 2% CjEX=2 HE

orintf("%s, ", strstr(str, "VA")); o EX1 VATE AR EIS EOIE Bt |
printf("%swn", strchr(str, 'A’)); «[ St AZF K-S LIEFLF= O|%| bl ]

return O;
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char *pal]l = { “JAVA” , “C#” , “C++” };
o =X XMF0 st x|Loto| SZHI ALS
e paHLZRM XA LIS HE 2VIs. (Y 2F)

¢ =X12| 2% HHYP = ATEAILE2M =7| 2
char cal[l[5] = { “JAVA” , “C#” , “C++” };
® gftl-‘.-’;i Hi 2! LM Z 25l 022 AMKAYX|= 2210 A

=
o cafix=MN =X LIE HEFE JI=.
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(strarray.c)
#include <stdio.h> [Z1H]
JAVA C# C++
int main(void) { JAVA C# C++
char *pa[] = { "JAVA", "C#", "C++"} A# +
char ca[][5] = { "JAVA", "C#", "C++" }; A# +
/222 37 BRtY FY 0 o =T AENE A
//pal0][2] = 'V /12 F T
//cal0][2] = 'V, /178 7ts

printf("%s ", pa[0]); printf("%s ", pa[1]); printf("%sWn", pa[2]);
printf("%s ", ca[0]); printf("%s ", ca[1]); printf("%sWn", ca[2]);

VA==
printf("%c %c %cn", pa[0][1], pal[1][1], pal2][1]);
printf("%c %c %c¥#n", cal0][1], ca[1][1], cal[2][1]);

return O;
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¢ DOS F0oIM > dir /w

o I=21%M dirE JHeCtH FSMo| sHEsl= “/w” & oLl
OIAIEIT|?

-> &3 9IXl(command line arguments)
€ main( int argc, char *argvl] )
e main &0IM 5 JH2] 21X} argegt argvE Sall B S + U

l

U

® argc: HIAMNM &
e argv: HIMOAM &
o 2o A=,
argv=2, argc[0]==2J=8AHZ, argv[1]= “/w”
& Visual C++0j|Ao{ 443K OIX} MESG}7]
o IXZFHMEMN|A| right click -> “=A”
o [CIHZA] - [HE ol=] 9o el MXLof| CIXIE 7=
o 22| A=,
fw
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(commandarg.c)

#include <stdio.h>

int main(int argc, char *argvl]) {
int1 = 0;

printf("&A 3 HH& 21X command line arguments) > >#n");

printf("argc = %dWn", argc);
for (I = 0; 1 < argc; i++)
printf("argv[%d] = %sWn", i, argv[i]);

return O;

[&
A HHA 21X (command line arguments) >>

argv[O] = CWjychoit5 H CHWC 21 0f
_2018WTestProjectWx64WDebugWTestProject.exe




